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Answer either in English or in Assamese.
1. Answer the following questions : 1x8=8
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(@) State the law of demand.

- vifzml R e 41|
(b)- What is a mérket?
TGy e
() What is market supply ?
IR @t B2

(d) What is inflation ?
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'(e) What are the components of aggregate
- demand ?
R ST SR R R ?
il In the consumption function what is
" . total consumption when 1ncome is
zero?
CoTs! TS S 2 SO (S snat e
‘(g) lee an example of progresswe taxation -
. in the context of India. '
ORSR cerieite TR 79 «ﬂﬁ« ch .
- famn
-(h) Define fiscal deficit in a budget. .
Qcers] KR At e iz
2. Answer any six of the followmg questions.
.2x6=12
ﬁwﬁr@— AT ﬁmz:fr W@m ot 2
(@) What is meant by economic efﬁmency ?
| ST T wef e
(b) * Define Marginal Rate of Transformation
: (MRT) .
AR M 2 siceat fom
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Why is a firm said to be a ‘price taker’
in perfect competition ? .
i efsfiore g en%-ém ﬁw T o

et Q@ e

Explain briefly the concept of
consumers’ surplus with a suitable
example. |
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Give Hicks’ definition of iricome.
T3 Wi gl e 41|

 What constltute the domestlc terrltory

of a country? -
QL (PR TR TeeTs [ & wwde e

What is the condition for -e‘quilibrium
in an economy ?

xﬂ*ﬂW@ﬁ?Wb‘@%9

Interpret Y = C + I in the ex-ante sense.
Y = C + I3 eropfiweia g =11

When is a tax said to be bubyant"

- oy 39, @WWWW =

QW

Contd.



0. ' Differentiate between a direct tax and
an indirect tax.
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3. . Answer any four of the followmg questions :
- 5x4=20
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(a) Point out the distinction between Shlfts
in the demand curve and movements

along a demand curve.
BIfRW (RIS ZIEe mm@wwﬁmw
- oAy el |

() What is meant by cross price elasticity
of demand ? What will be the sign of
the elasticity in cases when the two
goods are of substitutes and when they

are compliments ? 3+2=5
siftn o v Rfogeel Fra
'Wgﬁwwﬁwméﬁam—@
Ffogveor oz & 27?2

() Bring out the main points of distinction
between a perfectly competitive market
and monopoly.
sjef USROS T GFBIA ST 4
sfiefey R S 4|
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How is the market demand curve

" derived from the individual demand

(e)

curve ?- Explain diagrammatically.
Cferedt A2 oom =iwe gt w11

Define unemployment. How is the

unemployment rate calculated ? _
' - 243=5 -
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What is a Multiplier ? Illustrate its
operation using an illustrative example '

' 2+3=5
oo [ W« WWW@WW
2NTI

What is ‘tax’? Mention a few imporfant

features of taxation. v 1+4=5 -

m’ﬁs?wﬁwwm.@mw-

Explain - regressive taxation with the

. help of a diagram. State two merits of
. regresswe taxation. 3+2=5
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4. Answer any two of the followin'g questions :

10x2=20

ﬁﬁﬁﬂ@mwmwm

(@) Explam the 1dea of opportunity cost.

Define and draw Production Possibility
Curve (PPC) ? What do points outside

»and points inside the PPC signify ?

3+3+4=10
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(c)

(@
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Explain how equ111br1um is determined
in a competitive market ? Under what
conditions will the equilibrium be
stable? 7+3=10

afScIfIenER FeiTe Sy & w fRe
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Describe the circular flow of Income in
an economy. .

9 T T IO 21T I 4|

Distinguish between the current |

account and the capltal account of the

balance of- payment. Describe the

components of the current account.
4+6=10
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Describe the stnicﬁue of a budget. How
is the revenue account dlfferent from
that of the capital account? 6+4=10

mvﬁwﬁaﬁwﬁmwfimw@
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